
1 Matemática

Aula 1

Grupo I

1 2 3 4 5 6 7 8 9 10

C C C E Tipo 
D

5.  
3

3

1

0

-e o

Grupo II

1 2 3 4 5 6 7 8 9 10

C E C 088 C E E E C E

11 12 13 14

C C E C

Aula 2

Grupo I

1 2 3 4 5 6

C C C c a E

Grupo II

1 2 3 4 5 6 7 8

054 002 C E C E E 033

Aula 3

Grupo I

1 2 3 4 5

b E E C E

Grupo II

1 2 3 4 5 6 7

E E

3. h = 40
4. 102 kg
5. P = 36 e G = 4
6. 75,6 kg
7. C(v) = 0,5v2² - 40v + 1000
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1) z = cos90o + i sen90o

2) Demonstração
4) Circunferência

10) (0, 3), r = 2
11) -1 < x < 1
12) A = 1 e B =1
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1) Dica = z
1 z 1= -

3) 3 + 3i

Aula 8
Grupo I

1 2 3 4 5 6 7 8 9 10

4 3

11 12 13 14 15 16 17 18 19 20

E C C C E C C C

21 22

E C

2. 3 - 2i e -3 + 2i
4. Múltiplo de 4
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6. 2  +i 2   e  - 2  -i 2
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12. Re(z) = 2
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10) (3, 1) ; (1, 3) 
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7) p = 2 e o ponto será (0, -4)
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12) 44 oC; 
13) T = 1,3 t + 29
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1) 20 u.a
2) Pertence     
3) F1 = (- 29 ,0) e F2 = ( 29 ,0)
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1) (y – 2)2 = 4(x - 1)
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3) F (2, 0); (d): x = -2; V(0, 0)

4) V (0, 0) (d): y 4
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1) a = -2 e b = 
2
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2) S = {-1, 1, 2, 3}
3) P(x)= x3 + x2 - x + 15    
4) S = { -7, 1, 1 – i, 1 + i}
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